9_}: s Aormasin : [301‘”)
('s"]l“"> W % [Zﬂlaﬁ)
X
(#lli)
Q3 A AY)
_..|'#)
> x
(3
o + |
(‘1("’?/)
| L
& f()=x  vefled aows x-ams @ —% .
sludt O u,u.ib \‘o ﬂzgw( L - C’""m)
5\4;“ 2 u.tni\?; Vl? : ~ (x-t0) ¥ L
QS u= 3-u v= 2435
ut = G4 u=y = k=%
Wy = (?,-f’z,i)(u’bi) = 6+ —-4g/—6i" = 11+ 51
n -2 -3 B 6 -Qr =ty (" - L1
¥ o o e - —_ = —




2430 342 6+4+% 440 131

.

S ]

1l 34 q+4 I3

&6 £(x) = x- I

wm? FE0) = (%) —3(a)= x4 dn £ FR) N
dd? P = —1 43 = —fR) 8.

\';
W

@ )= In- a2z +
a) pessi‘he @hmal wop = 11 12 14 13

i
—‘/’5 s %é * 4/3 L S";'//3

—-JL-—-T,‘—lr E 7= -9

W —
; i ’\ Tt -Tzx+ % Zx- | l 1 - -Rx .
22 -6 -
A bt = 1lL4%Y
SRV v — b Alx
..f:,q:wﬁ -24x+ %
- ol i L%t ¥ ‘
.._,‘{c; A= l/-,- i-S a ,’Ua{’ _ -

il

1> ﬂ a QJIJ+






0\) shlve. Ix — * 7
%11—- 31{.“"‘ ‘% 3‘
(=& = 6x — bx — 36
6x =-380
n. =k
AMwes - U\f/J A =D
2) &
3 "
T v
i + | 4 H
fr) = 2(xn)(x1 ) : + +
e claeck S\Owi X 73 T
3 (x-1)(2)
. £ X <3 4 i /.... i
) < ‘X_(ﬁl = ___/___ _r



f‘_lj_ x4Ad x|

iany s snies. G
XY 212
‘ 1 ( 7'_ 31 e (I,>
(A3 )t ) - (:u[)(x—ftf) - K+ E L+ — \%
(7._-—-4) (SU'Z> (-4 ) (ax’l’?’)
- T 10 2_( G+ 5)
e — = - = £
(x—%) (Iﬂ’> (x-4) (x+1)
5 -—1
'Y "* Lo 41 *
.].‘(4,):: o af %Rz ™ 'zt' VU*\@J &WFMM
c,‘M«JL )\3\1\/3 4 <L < - / % = T
-V < < it -+ /__, - =
L‘
<. & % é_% - /-—- . 3 —+
1‘(””1 == /__ o B
solutiog x 74 3¢ ES Yy






